Metric thread

" Elbow/Banjo

ROHS compliant

E X oX
—— =N

i \

- O

\J
e e Relcarering Romme e

N( E: | :L; @ D:3~6 (Except R3/8)
| —| 1/8
e o5
) < R <‘\%
Metric thread Unit -

ube 0. L1 Ube end Weigh CAD
III T llll
JSC3-M3@EE | M3X0.5/25(22) 292 265 267027 24[243] 66(69) (5.4 JSC3-M3_(C)
JSC3-M5®E)®) M5X0.8(29(32)| 29.7 | 27 |1881265)| 241 (138)| 67 (64 73 JSC3-M5_(C)
JSC4-M3®E® M3X0.5(25122)| 29.2 | 26.5 [267(27) | 24 (243)| 66 (69) e =al @ 6.6 [JSC4-M3_(C)
JSCA-M5DE®® | 4 |M5X0.8(29(32)|29.7 | 27 |%8[265)|21188)|67164)| 8 T ’ 9.8|7.8| 7.2 |JSC4-M5_LC)
JSC4-01@®® R1/8 | 8 |415|34.9(37.5/30.9/10.7 14.4 17.71 10 17 |JSC4-01_
JSC6-M5D®® M5X0.8(29(32]| 29.7| 27 |681265) 241 (238]|75(72) 9.8 75| 8 7.9 | JSC6-M5_(C)
JSC6-01@B® 5 R1/8 | 8 |415|34.9/375(/30.9/10.7/10.5/14.4/11.6/183| 10 8 9.8| 18 [JSC6-01_
JSC6-02@®® R1/4 |11.1 1489|422 42.8(36.1111.9 18.4 202 14 | 35 [JSC6-02_
JSC6-03@D® R3/8 | 13.2/54.4|46.9| 48 |405/15.4(14.4] 22 | 17 | 29 | 19 — | 65 |JSC6-03_
JSC8-01@®® R1/8 | 8 |415(34.9/375(309/11.9 14.4 26.9| 10 21 |JSC8-01_
JSC8-02@®® . R1/4 |11.11489(42.2|42.8(36.1/13.2 " 18.4 181 284 14 38| — 38 [JSC8-02_
JSC8-03(D® R3/8 [13.2/54.4|469| 48 |405(15.4| | 22 T 1289] 19 | T 65 |JSC8-03_
JSC8-04@® R1/2 | 16 |59.7|52.4|51.544.2| 18 28 31 | 24 101 [JSC8-04_
JSC10-020G® R1/4 |11.1148.9 422 |42.8/36.1|14.8 18.4 309/ 14 41 [JSC10-02_
JSC10-03@®| 10 | R3/8 |13.2|54.4146.9| 48 |405[16.7(17.6| 22 [20.2(31.2| 19 168 — | 69 |JSC10-03_
JSC10-04@® R1/2 | 16 159.7 524|515 44.2| 18 28 33.6| 24 104 |JSC10-04_
JSC12-03@® % R3/8 | 13.2|54.4|46.9| 48 |405|18.4 o 22 3.4 36.9| 19 198| — 72 [JSC12-03_
JSC12-04@® R1/2 | 16 |59.7|52.4|51.5|44.2(19.7 28 1364 24 | T 107 |JSC12-04_
JSC1/8-M3@B® . M3X0.525(221| 29.2 | 26.5 | %67(27)| 24[243] |66 (69) g losl 111154l 8 loglos 6.6 |JSC183_(C]
JSC1/8-M5@00® M5X0.8(29(32]| 29.7| 27 |268(265) 241 (238]|6.7 (6.4 7.3 | JSC18M5_[C)
JSC1/4-M5@®)® M5X0.829321(29.7 | 27 |268[265)|241(238) {84 (81) 9.8 24 | 8 9.5 |JSC14-M5_[C)
JSC1/4-0100®| 1/4" | R1/8 | 8 [415|34.9/37.5/30.9(10.9|12.4|14.4| 17 |235| 10 [11.8] — | 19 |JSC1_4-01_
JSC1/4-02@6B® R1/4 |11.11489(42.242.8(36.1 122 18.4 255| 14 36 [JSC1.4-02_
JSC5/116-010B)® R1/8 | 8 |415(34.9/375(/309/11.9 14.4 26.9| 10 21 |JSC5.16-01_
JSC516-0206®| 5/16" R1/4 |11.1]48.9|42.2142.8/36.1(13.2(14.4/18.4(18.1|28.4| 14 138 — | 38 |JSC5.16-02_
JSC5/16-03@® R3/8 |13.2/54.4/469| 48 |405|15.4 22 28.9| 19 65 | JSC5_16-03_
JSC3/8-0200® . R1/4 |11.11489(42.242.8|36.1|14.8 96 18.4 202 30.9| 14 68| — 41 ]JS03.8-02_
JSC3/8-03@® R3/8 | 13.2|54.4|46.9| 48 |405(16.7| "~ | 22 13121 19 | 69 |JSC38-03_

¥ 1. @ in model code : Replaced with "A" for Meter-out (Exhaust), "B" for Meter-in (Supply) control.
% 2. ® in Model code / Replaced with “K” for Low cracking pressure type.
(No ® in Model code indicates Low cracking pressure type is not available.)
% 3.(®in model code : Replaced with "W" for Light-Gray, "-C" for Cleanroom package, and "W-C" for Cleanroom & Light-Gray.
% 4. "L1" and "L2" are reference values for height dimensions after tightening a taper thread.
5. Valuein[ ]is for cleanroom packaging.



